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General Instructions :

Read the following instructions very carefully and strictly follow them :
(i) This Question Paper contains 38 questions. All questions are compulsory.
(i1) Question Paper is divided into five Sections — Section A, B, C, D and E.

(iii) In Section A — Questions no. 1 to 18 are Multiple Choice Questions
(MCQs) and Questions no. 19 & 20 are Assertion-Reason based questions

of 1 mark each.

(iv) In Section B - Questions no. 21 to 25 are Very Short Answer (VSA) type

questions, carrying 2 marks each.

(v) In Section C — Questions no. 26 to 31 are Short Answer (SA) type

questions, carrying 3 marks each.

(vi) In Section D — Questions no. 32 to 35 are Long Answer (LA) type

questions, carrying 5 marks each.

(vii) In Section E — Questions no. 36 to 38 are case study based questions,

carrying 4 marks each.

(viii) There is no overall choice. However, an internal choice has been provided
in 2 questions in Section B, 3 questions in Section C, 3 questions in

Section D and 2 questions in Section E.

(ix) Use of calculators is not allowed.

SECTION - A

This section consists of 20 multiple choice questions of 1 mark each. 20 x 1 =20

1. The lines 1- =2 =_" and 2x—3: y :Z_4
2 3 1 2p -1

are perpendicular to

each other for p equal to :

1 1
A - 5 B) 3
©€) 2 D) 3
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2. g Tmme Tuen (LPP) ekt guma & g T 7, 3 329 el Z = 4x + y
CIBCERICE S
Y

N

90 1

(0, 50)

50 -
B (20, 30)
(30, 0)
WL .C —N >X
0] 10 20 30 40 50
(A) 50 (B) 110
(©) 120 (D) 170

3. e U Agfess =X X o1 IRkl e, e g

X 0 1 2 3 4

PX) |01 | k| 2| k| o1

&l k Teh TR 3T 2 |
a1 Agfose = X 1 °H 2 B i TTRehT &
1 2
(A) = B) —
4
©) 5 D) 1
2 -1 5
4. ACA=[ay]=|1 3 2|8 TU c; AT a;; FI GG &, A a,; - ¢11 + 8y,-Cy
5 0 4
+a23-013f‘=b‘m1:[%:
(A) —57 B) 0
© 9 D) 57
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2. The maximum value of Z = 4x + y for a L.P.P. whose feasible region is
given below is :

Y
N
90 -
(0, 50)
50 -
B (20, 30)
(30, 0)
WL .C: t >X
0] 10 20 30 40 50
(A) 50 (B) 110
(C) 120 D) 170

3.  The probability distribution of a random variable X is :

X o |1| 2 |3]| 4
PX) |01 |k |2k | k| o1

where k 1s some unknown constant.

The probability that the random variable X takes the value 2 is :

1 2
A) = B) =
(A) = B -
4
© - D) 1
5
2 -1 5
4. If A= [aij] =1 3 2] and C; is the cofactor of element aji, then the
5 0 4
value of ay; - ¢;; + @99 €19+ 895 Cygls:
(A) 57 B) 0
<) 9 (D) 57
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qﬁA:E ﬂ BAAMAZ_KA-5I=0%, Ak HAAS :

@A) 3 B) 5
<o 7 D) 9

Ao =cd ot Y i
dx

2

xe* VY —2y
A) %y (B) .
(C) 2y (D) x

X 2y

2_¢2 Iex<4
chagﬂﬂ,ﬁﬂ%%ﬁf(x):{:x+;0,aﬁzz4
@ -2 -
©) 0 D) 2

I UTia wer £, Tt

1

I x| dx HTHAS :

1

@A) -2 (B) -1
© 1 D) 2

I THIHUT log (dy] = 3x + 4y; y(0) = 0 % T3 g1 ¥ Iufera W= 3=l

dx
e
A) 2 ®) 1
© 0 (D) 3

a c 0
ZIﬁ{b d O}@ﬂﬁﬂﬁ%(scalarmatrix)%,?ﬁa+2b+3c+4d7=b"ﬂ3l17-[%

0 0 5
A) 0 B) 5
(©) 10 (D) 25
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IfA= E ij and AZ — kA — 51 = O, then the value of k is :

4) 3 B) 5
©) 7 D) 9

dy .
If e¥ = ¢, then L s

dx
xe® Y -2y
A) B —
2y X
() 2y (D) *
X 2y

The value of constant ¢ that makes the function f defined by
Jx?-c?, ifx<4
f(x>_{cac+20, ifx>4
continuous for all real numbers is :
A) -2 B -1
<€ 0 D) 2

1
The value of I x| dxis:

1
@A) -2 (B) -1
© 1 D) 2

The number of arbitrary constants in the particular solution of the
differential equation

log (?j = 3x + 4y; y(0) = 0 1s/are
X

@A) 2 (B) 1
©) o0 D) 3

a c¢c 0

If b d 0] 1s a scalar matrix, then the valueof a + 2b + 3c + 4d 1s :
0 0 5

@A) 0 B) 5

(©) 10 (D) 25
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n.aﬁA:{%4 2}%@I—A+Amﬁ@+m%:

1 -1 3 1
A) 4 3} (B) 4 _J
0 0 1 0
© 0 0} D) 0 1}

2 -1 2 -1
oy o[t

12 -1 1[2 -1
(©) ?{3 2} D) 5{3 2}

13. 3Taehel GHIHT (x + 2y2) 3—3' =y (y > 0) 1 THTH 0T §
X

11 2 1 .
12, RmifeA _;{3 JaaawEA%

1

A — B) «
X
1
©) vy D) -
y
14 W T =i+ —k+r3i — ;)% ceaqarn s
(A) 5i +] +6k B) i+3]+5k
©) 2i-2j ®) 9i —3]

15, @ a =21 — ] +k, b =1-3] —skauc =-31 +4] + 4k fom fryw
1 et ol FEd H 8, T8 8
(A) T gHeTg s (B) TH AfRh-hIv s
(C) T HHigeTg Frget (D) T HHhIT Byl

16. WHTa ThUm AR REE R |2 | =ad, @
> N2 - N2 - N2
la xi|"+|laxj| " +]axk]| EAR:ICR
(A) a? (B) 2a2
(C) 3a? (D) 0
65/4/2/21/QSS4R Page 8 of 24




@ collegebatch con

11. IfA= {_2 _12}, then the value of T — A + A2 — A3 + ... is:
@) _‘41 ‘31} ®) __3 ) _11}
o fs 0!

12. Given that Al = % [_23 ﬂ matrix A is :
o ol
o o4l

13. The integrating factor of the differential equation (x + 2y?) 3—}7 =y (y >0)
X

1S :
1

@& X B) =
X

© vy o =

y

N A A A A A
14. A vector perpendiculartotheline r =1 + j —k +A(31 — j)1is:

(A) 51 +j +6k B) 1 +3j +5k
C) 21 -23 D) 91 -3j

AN AN N —> A AN A

N A A - A

15. The vectors a =21 —jJ +k, b =1 -3j —bkand ¢ =-31 +4j) + 4k
represents the sides of
(A) an equilateral triangle (B) an obtuse-angled triangle
(C) an isosceles triangle (D) aright-angled triangle

16. Let ; be any vector such that | ; | = a. The value of
> N2 - N2 > N 2.
la x1|"+|laxj|"+]axk]| 1s:
(A) a2 (B) 2a2
(C) 3a” D) 0
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17 A aanb AW ARTERF |al =1 |bl =27 a b =4v32 a
2% T —b FFTH IO :

T T
(A) m B) 3
51 11n
(C) - D) e
18. oM f(x) = kx — sin x TR 9¢mmm 7, afe
A) k>1 B k<1
©€) k>-1 D) k<-1

AR — ek TR I

9§ 19 T 20 § Tk IR (A) % 91¢ Tk e (R) fear & | 1 § 9 =l s

LT

(A) ITH (A) 91 Th (R) THI T & | b (R) MRA (A) 1 T IR Hia
2|

(B) 3f¥eped (A) duT b (R) gHI T & | b (R) 3T (A) i ot =men &
T |

(C) IR (A) ¥ &, Tg o (R) 3EA 2 |

(D) ARTHUT (A) 39T g Te(h db (R) A2 |

19. IR (A) : et LPP % fore ufterg gea & % v foig qafe mu g |
7 = x + 2y 1 3T(eehad H = fagali W 2 |

Y
6% N (0, 60) T (120, 60)
(60, 30)
R
301 3
/
(40, 20)— |
(120,00
0 P\ QN i
(60, 0)

T (R) : T LPP {5k gea &= aiag 21, 1 3500 8 v fog WA 2 |

65/4/2/21/QSS4R Page 10 of 24




17.

18.

19.

@ collegebatch con

— - — - -5 =
If a and b aretwovectorssuchthat | a |=1,| b |=2and a - b =«/§,
- =
then the angle between 2a and —b 1is:

7T T
(A) 5 (B) 3

5T 11x
© 3 (D) e

The function f(x) = kx — sin x is strictly increasing for
A k>1 B k<1
(C) k>-1 D) k<-1

ASSERTION-REASON BASED QUESTIONS

Questions No. 19 & 20, are Assertion (A) and Reason (R) based questions
carrying 1 mark each. Two statements are given, one labelled Assertion (A)
and the other labelled Reason (R).

Select the correct answer from the codes (A), (B), (C) and (D) as given
below :

(A) Both Assertion (A) and Reason (R) are true and the Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is not the
correct explanation of the Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D) Assertion (A) is false, but Reason (R) is true.

Assertion (A) : The corner points of the bounded feasible region of a
L.P.P. are shown below. The maximum value of Z = x + 2y occurs at
infinite points.

Y
6% N (0, 60) T (120, 60)
(60, 30)
R
301 3
/
(40, 20y~ |
(120,00
0 P\ QN
(60, 0)

Reason (R) : The optimal solution of a LPP having bounded feasible
region must occur at corner points.
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23.

24.
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AR (A) : FIT R = {(x, y) : (x + y) Th 9T G&AT & a1 1, y € N} Th Wged
TEY T8 3 |
T (R) : Tt ITehd E&13T n < fTT, 2n T WA G&T1 7 |

Qs -9

39 @UE 1 5 AT g I a7l T &, T8 Tsh o6 2 31 & |

T B 1 AR 6 cm®/s 1 GH 96 T 8 | = 1 JEIT &% 8 L H G T 8, o
3o ThT hl @& 8 cm B ?

(a) _7“<x<g€51%mtan—1( cosx jaﬁumwmﬁwwﬁﬁﬁml

1—sinx

AYdT

(b) tan! (1) + cos™! (— %) + sin”! (— %) T & T T hHIIT |

e 3 ) = 50X —x;{O,E}ﬁxW@HWW%I
2+cosx 2
(a) IfCy=cosd (sec22t)%,?ﬁ%§ﬂﬁﬁﬁml
YT

(b) Ay =er-vE, A g Ay Do 1082

dx  (1+logx)?®

1
2
T T ST jcosx log( ] dx
— X
=

2
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20. Assertion (A) : The relation R = {(x, y) : (x + y) is a prime number and x, y € N}
1s not a reflexive relation.

Reason (R) : The number ‘2n’ is composite for all natural numbers n.

SECTION - B
In this section there are 5 very short answer type questions of 2 marks each.

21. The volume of a cube is increasing at the rate of 6 cm?®/s. How fast is the

surface area of cube increasing, when the length of an edge is 8 cm ?

COS X

22. (a) Expresstan! ( -
l-sinx

j, where _7% <x< g in the simplest form.

OR

(b) Find the principal value of tan™! (1) + cos™! (— éj + sin”! (—

%)

23. Show that f(x) = _dsmx x 1s an increasing function of x in | O, .
2+cosx 2

24. (a) Ify=cos® (sec? 2t), find %
OR

(b) IfxY=e*"Y, prove that dy = log x

dx  (1+logx)?

25. Evaluate :

D 1

cos x -log (1+x] dx

e 1-—x

2

65/4/2/21/QSS4R Page 13 of 24 P.T.0.




26.

27.

28.

29.

30.

@ collegebatch con

qUE - T
30 @UE H 6 G-I YHR o T &, [ Tsh o 3 31 7 |

fem 3 f6 a7 + y* = aP B, & a AU b YHTCHS TR F, ?aﬁﬁﬁm
X

(a) 3Tt THHWT ? =y cot ZXWWWWW,W%%y(gj =2 |
x
JAYAT

(b) Wﬂﬁw@e% +y) dx = x dy o1 fof3e &t F1a@ Fifsw, femgfry =1
BT x=1% |

(x+3)

(a) 52 Ul hl 3= YhR T el TS a1 bl Tt H & Teh U1 @1 AT & | A9 I=fi 4 &
ATGTSAT Th Il HehTell STl 7, S S1ESITE STell Ol Ul STl & | @1 T O o6
STCIITE ST U1 B ShT ITRIehdT ST ShifTg |

JAYAT

(b) e AT ITH T AHEEAT 3T <! STRIehal, foraw €@ < 31 shl Iiehar & g
2 | 30 U %I g1 IR IBTAT TAT | B: 37 hl TEAT 1 JTRIhdT 97 T I | 39
e o1 Arey ot ra HIfu |

o= Yt ST S 1 T g B ST
el x + 2y < 200
x+y<150
y <75

x,y=>0
o AW Z = x + 3y T JAThaHIHT HIfY |
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SECTION - C
In this section there are 6 short answer type questions of 3 marks each.
i .. .. d
26. Given that x¥ + y* = aP, where a and b are positive constants, find d—y
X

27. (a) Find the particular solution of the differential equation dy =y cot 2x,

given that y(gj = 2.

OR

(b) Find the particular solution of the differential equation

y
(xe* +y)dx =xdy, given that y =1 when x = 1.

28. Find : | (243 gx

x2(x +3)

29. (a) A card from a well shuffled deck of 52 playing cards is lost. From the
remaining cards of the pack, a card is drawn at random and is found
to be a King. Find the probability of the lost card being a King.

OR

(b) A biased die is twice as likely to show an even number as an odd
number. If such a die is thrown twice, find the probability
distribution of the number of sixes. Also, find the mean of the
distribution.

30. Solve the following L.P.P. graphically :
Maximise Z = x + 3y
subject to the constraints :
x + 2y <200
x+y<150
y <75
x,y=>0
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31. (a) maﬁaﬁﬁq:jHCOS

Wug -
Y QU IR -3 Tl I 2 | Ik T <6 5 31%% |

32. (a) HMMA=R-{5}dM B=R—{1} & | f(x) =

T fomm ife |W%f%am%l
COCH]

(b) Sifa hIfT fop R weft aredfas Testi & ag=g R | yifya day
S={(@a,b):M&a—b+ V2 T g T2}
e, FHM 3T F5hH ¢ |

33. (a) %@Tx 2y 6_1 lzamsaﬁ;wm@m‘(@a‘rﬁg (4, 0, —5) A BT

:vn?ﬁ% %aﬁaaﬁaﬁaﬁaﬁﬁm
T

x-1 y—-2 z-3 x—1 y-1 z-6
(b) zri%%@m_?) 3 T = __7qrwaaa'cr%a“1k

T HH F1d HINT | 37d: IUed eHT K137 o Aedd Ueh W& oh1 Hie THIHT
faftag, S fag (3, 4, 7) A RN 2 |

1 2 -3)(0 1 2
34. 3SRl % PHGA [3 2 2}{7 7 7}%%%@@%%%
2 -1 1 J\-7 5 -4
ﬁ%ﬁ@ﬁm:
x+2y—32=6
3x+2y—2z=3
2x—y+z=2
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x dx

3
31. (a) Evaluate: 2[1 + cos 2x + sin 2x

OR
: 1 X
(b) Find: |e* + dx
j L+x2)? Vl+x?
SECTION - D

In the section there are 4 long answer type questions of 5 marks each.
32. (a) Let A =R - {5} and B = R — {1}. Consider the function f : A —»> B,

defined by f(x) = ¥—3 . Show that f is one-one and onto.

OR
(b) Check whether the relation S in the set of real numbers R defined by

S ={(a, b) : where a—b + V2 is an irrational number} is reflexive,
symmetric or transitive.

X 2y—-6 1-z

33. (a) Find the distance between the line 22 " and another
line parallel to it passing through the point (4, 0, —5).
OR
) If the lines S L-¥—2_273 .4 X1 y-1 276 .,
-3 2k 2 3k 1 -7

perpendicular to each other, find the value of k and hence write the
vector equation of a line perpendicular to these two lines and passing
through the point (3, —4, 7).

1 2 -3)(0 1 2
34. Use the product of matrices |3 2 —-2||-7 7 —7| to solve the
2 -1 1 )\-7 5 —4
following system of equations :
x+2y—32=6
3x+2y—2z=3
2x—y+z=2
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35. (a) Tk y = ux|x| T ARG WU | 37d: 39 ok, X-37&1 qUT HIEA x = —2 qAT
x = 2 o o= e € T &9hel GHTheH ¥ T ShilNTT |
YT

(b) TETREH % YART § <Ega 9x2 + 25y2 = 225, WIS x = —2 TAT x = 2 3N
X-3787 o S9 feR &1 <hT &%l T shiTou |

GUE-§
34 QUE N 3 ThUUT ST 9 & | TIsh T % 4 37 ¢ |
36. T W g H T feTeh Ueh fouiy drmeel H a8 aqehict diF RIari w1 guiiar @ |
TH & % g 0 (0, 0, 0) W feora & qen i forami it ferfem D, A 9o Vo 38 yehr §
fop 3 TRufo—afew waw: 21 +3§ +4k, 75 +5§ + 8k @uT—31 +7§ +11k
g1

ST o YR I o ST SR
() Taam Vv, fqar A€ feafi gl g ? 1
(i) E)A &1 feem T ueh Uehsh—HfesT T I | 1
(i) £VDA %1 T/ HTd I | 2
JA¥ar
—> —
(iii) gfewr DV s afest DA W yey fha g 2 2
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35. (a) Sketch the graph of y =x|x| and hence find the area bounded by this
curve, X-axis and the ordinates x = -2 and x = 2, using integration.

OR

(b) Using integration, find the area bounded by the ellipse 9x2 + 25y2 = 225,

the lines x = -2, x = 2, and the X-axis.

SECTION - E
In this section, there are 3 case study based questions of 4 marks each.

36. An instructor at the astronomical centre shows three among the brightest
stars in a particular constellation. Assume that the telescope is located at
0(0, 0, 0) and the three stars have their locations at the points D, A and V

A A A A AN

A A A A
having position vectors 21 +3j +4k, 71 +5j) +8k and-31 +7) + 11k

respectively.

Based on the above information, answer the following questions :

(1) How far is the star V from star A ? 1
>
(11) Find a unit vector in the direction of DA . 1
(111) Find the measure of ZVDA. 2
OR
—> —>
(i11) What is the projection of vector DV on vector DA ? 2
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37. Ufea, Jesfa 3K smfern we & ug st i el & fofe anenmesnr & fote 3ufed gu |

fier 3 <1 ST B STt % 2, i % T 9 6 ST % oI TR % o

1 TRkt i @ | = <l T Ueh GHL H WA § |

ST TR o TR 9T 107 I3 o ST < -
(i) STH W Y U HH Th o g A bl TTRIhdT FA1 8 ? 1

(i) P(G|H) 3 IR &t G, Tesid & g4 T 1 guiidt & 921 H Ufgd & 9 94

ST I S 3 | 1

(iii) ITH T hdel Teh o A T shi Il [T HIFT | 2
3T

(iii) 378 W IS Gl o T ST hl JTHRIhdT FTd T | 2

65/4/2/21/QSS4R Page 20 of 24




@ collegebatch con

37. Rohit, Jaspreet and Alia appeared for an interview for three vacancies in

. : : .1
the same post. The probability of Rohit’s selection 1is = Jaspreet’s

) o1 ) X | i )
selection 1is g and Alia’s selection 1s Z The event of selection 1is

independent of each other.

Based on the above information, answer the following questions :

(1) What is the probability that at least one of them is selected ? 1

(i) Find P(G | H) where G is the event of Jaspreet’s selection and H

denotes the event that Rohit is not selected. 1

(111) Find the probability that exactly one of them is selected. 2
OR

(111) Find the probability that exactly two of them are selected. 2
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38. TH WR, hegpaied T 350 Ul hespetel o 9T ¥ o9 @1 & | W o Ueh Td o HR

Tod (p) o T W fofehd aTeT hogpeiedl hl TEAT (x) ¢ It & | o 3R foeh are

T T &, AT HT B  p = 450 — %xmﬂaﬁ%

IGURT o SR I 7 T941 6 3T e

(i)  3ATehad 3™ R(x) = xp(x) I A o ToT fora 318 (x) S=H 8 ? 3109 I
1 GoIT9A HITT |

(i) 3TehaH 31T o feTT Teh Sheapeied o Hodl ohl TR oh fohaT IHT BRTI ?
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38. A store has been selling calculators at ¥ 350 each. A market survey
indicates that a reduction in price (p) of calculator increases the number
of units (x) sold. The relation between the price and quantity sold is given

by the demand function p = 450 — %x

Based on the above information, answer the following questions :

(1) Determine the number of units (x) that should be sold to maximise

the revenue R(x) = xp(x). Also, verify the result.

(11) What rebate in price of calculator should the store give to maximise

the revenue ?
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